a(0 @) (raqd)

Ratio

SICEWATL

=
<

=
<

a(d cot(v))

1072

Ratio

1072 2 3
10 1 TPlpoT (PCA t%obeamliné[f)

—s— DQM_VUUUI_RUUUU0U000UT _Global _MKFT_IKSTante
—— DQM_V0001_R000000001_Global _mkFit_CAND1kstable
—«— DQM_V0001_R000000001_Global_mkFit_Tkswitch
—— DQM_V0001_R000000001_Global _mkFit_CANDIkswitch

z

oo a ) (cm)

o10%F : 0103} i
o r : T 1T = F :
=k il x : 18
=T e 1 T e
0.95 '_1 0.95 '_1 ' = ,
10 10 ! TPlp?T (PCA tjbobeamliné'f)
~ 1=
2 C:
Ll L.
o
o [
S L
01012l
§ 1.05;— ----- LLELLH e
1;— ---- At ] A e -
0.95F----- - H LA e
107 1 10 ®_ 10
TP, (PCA t%) beamllne)O



	Contents
	Page 1


